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O \,=‘ Proposed Office Building
1] Carpet area = Bult up area = Feasibility Study
dl |C
4= Land Area 9500.000
0.37
| S Width of Access Road 9.6
o ]
No. of units - 81 units Allowable Basic F.A.R 1.8
) Thus, Allowable BUA for F.A.R 17100.00
= ]

/]‘J E O “ Carpet arfia = Built up area =

ey 60 m2 70 m2 Allowable Building Ht. 45
S | N \\\"—‘
,// loe] D @
Assumed Ht. of Building 27
Front Setback 6.0
Side Setback 6.0
” Rear Setback 6.0
|
t Allowable Ground Coverage 50
S Carpet area = Built up area = 4750.000
113 m2 129 m2
Max. Possible Ground Coverage (utilised) 4750
50.00
Total built up area allowed after premium FSI calculations 17100+6842 m2
23940 m2
= — Thus, Parking Requirement
= H Parking requirement [1 car@50 Sq.m Carpet Area] for first 1500 sq. m. 30
Parking requirement [1 car@75 Sg.m Carpet Area] 30
” Thus, Total Parking Requirement 60
s L

= — Carpet area = Built up area =
| 122 m2 139 m2 Typical height of a unit 3m
@ Number of floors (if max height allowed is 27m) G+15

\

Max. number of floors possible by ground coverage 23940/4750
- 5.040

No. of units - 12 units
0 1 3 6m

Unit types e FAR calculations
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